b +c)><a =ab +ac

N N

b —c)xa =ab —ac

(a +b)(c +d)

=(-2x —4)(-3-x)
=—2x(-3-x)-4(-3-x)
=6x +2x2+12+4x
=2x 2 +6x +4x +12

=2x2+10x +12

Jidgsdeld s cs by a

:a(c+d)+b(c+d)

MS:\SAJ‘JLiCjb sa |
a(b +c):ab +ac !
|

a(b —c):ab—ac |

A =2x (x +4)
=2x Xx +2x x4

= 2x % +8x

ac +ad +bc +bd

C=(2-x)(3x +1)
=2(3x +1)—x (3x +1)
—6x +2-3x%—x
=—3x246x —x +2

= 3x2+5x +2

s Jle *

- JUia *

A =3x(2x +1)+(3x —2)(x +7)

B =2ﬁ(x +\B)—ﬁ(ﬁ—2x)
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B = 243(x +3)—5(v5 - 2x)

JOEEN]

A =3x (2x +1)+(3x —2)(x +7)
= 6x % +3x +3x (x +7)—2(x +7)

2 2
= 20V3+ 243 —5 + 205 =6x % +3x +3x 2 +21x —2x — 14
=203+ 205 +6-5 = 6x 2 +3x 2 +3x +21x —2x —14
=2x\3+2x 5 +1 =9x % +22x —14
d—endll — (2
a.lc\ﬁ--(\

=2(2x +1

Jigdds el e 5h sa
ab +ac :a(b +c)

ab —ac :a(b —c)

/
i
|
|
|

P e - (@
B = 2x(x 1)+ (x —1)(4x +5) A =2abe +Tab 11ac
= 1)[2x+ 4x +5] :a(2bc+7b—1lc)
:( 1)(2x +4x +5)
:( 1)(6x +5)
Db dwe
A =8xy +12x2y—4xy2
B =(2x +1)(5-x)—(2x +1)(7x +3)
RN
B =(2x +1)(5—x )—(2x +1)(7x +3) A =8xy +12x°y —4xy?
= (2x +1)[(5-x )= (7x +3)] =dxy (2+3x - )
(2x +1)(5—x =7x 3)
:(2x+1 —x =7x +5 3)
=(2x +1)(-8x +2)
(2x +1 (—4x +1)

X2
)(—4x +1)
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g (1
]  Okida gl b5 a ‘I
E (a+b)2:az+2ab+b2 |
' (a—b)2:a2—2ab+b2 :
! :
(a+b)(a—b)=a® b’ |
\.'\ e e e e e e e e e e e e e e e e e e e e e e e — e e — - — /..

s Glinki (2

-l g Al claUanal) *

C =(2v2+3x )(242-3x) B=(5-7x) A =(2x +3)
= (242) (3 )’ =57 ~2x5xTx +(7x )’ = (2x )" +2x2x x3+3?
—8—9y 2 =25—70x +49x > —4x%12x +9
- santll g Al culUaial) *
F =144x2 -4 E =16—56x +49x 2 D =25x%+30x +9
:(1296)2—22 =(4)2—2><4><7x +(7x)2 =(5x)2+2><5x x 3+ 32
= (12x —2)(12x +2) = (4-7x )2 = (5x +3)2

b Lo o il (1

A =(2x +1)° =(3x +5)(3x -5)
B =(7-2x) +4x (1-x)

t b ledwe — (2

C =25x" -4+ (5x —2)(5x +6)
D =9x*—6x +1+5x (3x +1)
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J==ll

s dapill 5 sl — (1

A =(2x +1) —(3x +5)(3x -5)
(20 +2x20 x141% || (3x ) - 57
[

4x % 1 4x +1] [9#—25]

B :(7_2x)2+4x(1—x)
:[72_2x7><2x +(2x )2}+[4x —4x2]

=49—28x +4x % +4x —4x?

=4x?—4x? —28x +4x +49 “+4x +1-9x°+25

4y
4x% —9x % +4x +1+25

= —24x +49 =
= —5x%+4x +26
s dendll — (2
2
D =9x " —6x +1+5x(3x +1) C =25x2—4+(5x —2)(5x +7)

(5x )" =22 +(5x —=2)(5x +7)
(Sx —2)(5x +2)+(5x —2)(5x +7)
(5x —2)[(5x +2)+(5x +7)]

=(3x)2—2><3x x1+1% +5x (3x +1)

Il
(9]
S

|

1) +5x (3x +1)

(
:(3x 1)(3x +1)+5x (3x +1) ~(5r ~2)(5x +2+5x +7)
= (3x +1)[(3x -1) +5x] =(5x —2)(10x +9)
:(3x +1)(3 —1+5x)
~ (3x +1)(8x 1)
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